Example 6.38 Design a low pass filter using rectangular window by taking samples

of w(n) and with cut-off frequency of 1.2 rad/sec Nov’05 (set 1)
Solution
wc = 1.2 rad/sec
If T'=1 sec
The cutoff frequency w¢ = 1.2 rad : T
Hq(e™) =1 for |w| <1.2 . H(e")
=0 for 1.2< |w| <7
- ,
1 : .
hg(n) = — /Hd (e7) e dw
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ForN =17 m
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ha (0) = —= = 0.387

ha(=1) = hg (1) = 0.2967
ha (=2) = hgq(2) = 0.1075
ha (—3) = hyq (3) = —0.0469
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,' of 1.2 radians/sec and N = 9.

Gwen w, = 1.2 rad/sec :
- The coefficients of high pass filter

w
he (0) =1 — _f- = 0.618

—sinwce
™

hd (n) — |’I’L| > 0

j.\m 6.41 Design a high pass filter using hamming window with a cutoff fre-

Nov’05
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